36.

37,

39,

40.

~,

(G316 st 17.28% ARGITE IS 32 ©iF HHRT ©F 162, GF% @
TS MIGITSH 2AFega 127 ey 37 1) '

Write the equation of Chlorination of methane with condition.

(=& Firme @i Rigrare siieaael @) |

When CuSO, solution is electrolysed in presence of Cu-electrode

the weight of the anode decreases — explain.

(TR SRR AR CuSO, T OfSe RetTe S0 ST Sem
2T AT @& 2)

Write with equation what happens when —

(FF a5 AAM=aet 37 ford -)

(1) Hot & conc. HNO, reacts with copper. (4116 TG HNO, stetss
A R w31 =) |

(i1) Steam is passed over red hot iron. (=Ni2® ©¥ CﬂW &3 B2
SOI BIeT! 1 Z4T) |

What happens when phenolphthalein is added to aqueous solution

of NH, ? Write down a name of naturally occurring pH indicator.

(ST TR Tl w3 (T Aifer st TReet P =T 2 @Il el
freitEa wiw fa )

How will you distinguish between acetylene & ethylene by one

chemical test.

(@26 R 37 TR e WiRbEw 8 3fdfEw g7 sty ol
[R<eold FIT 2)

000

Page 8 of 8

 TCSICATI2015
Chemistry Aptitude Test — 2015

Stage — 11 (For Class-X)
Full Marks : 50 | Time : 1-30 hours.

Answer ail the questions. There are 30 MCQ (1-30) in Group A, each of 1
mark. Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer-script. Multiple
shading is liable to cancel the relevant answer. 0.25 mark will be deducted
for wrong answer to each MCQ. Group B contains 10 questions (31-40)
each of 2 marks — answer these questions in the space provided for in
the Answer-script. |

Choose the correct options 1x30=30
1.  Which one of the following sets of ions represents a collection of
iso electronic species ? (R (PN G160 FTIZETREN AT -)
(a) N, O, F (b) Mg*?, Ca*?, S*
(c) K%, CI, APt (d) K*, Ca*?, Na*

2. Themassof P,O  that will be obtained from the reaction of 1.33
gram of P, & 5.07 g of oxygen is —
(1.33 aW P, @32 5.07 9t Sii=icena [iea ety PO, a3 &9 %3 -)
(a) 2.05¢ (b)3.05g (c) 4.05¢ (d) 5.05¢

3. BF, 1on1s an example of

(BF,” I 41 Swizge, fWiNa (1 384 2)

(a) Hydrogen bond (2GS I%)
(b) Covalent bond (FASIG T5)
(c) Metallic bond (4193 IF)
(d) Co-ordinate bond. (SFIE IEA) |

4. Which of the following is soluble in water ?
(T3 @191 &= w19y 2) _
(a) CS5, (b) C,HOH
(© cc,  (d) CHCL,

Page 1 of 8



3.

(A3 @oifa TUPAC w11 221 -)

‘Which among the following is a double displacement reaction ?

(Feve i RfEn ReRes /e 2
(1) 2KCIO, > 2KCl + 30,
(1) Pb+ CuCl, > PbCl, + Cu
(i) C+ O, > CO
(iv) CH, + 20,
(a) (1) only
() (1) & (v)

What is aqua-regia ? (5ars & 2)

(a) 1:2 Mixture of chromic acid & sulfuric acid.
(1:2 i wifTe @ AaFs s spifices fy)

(b) 1:3 Mixture of Conc. HCI & Conc. HNO..
(1:3 = REFIR 8 9 F3hF wittes i)

(¢) 1:3 Mixture of Conc. HN O, & Conc. HC1l.
(1:3 99 HNO, 9= v« HCI @3 firew)

(d) 1:1 Mlxture of Conc. H,SO, & Conc. HCI.
(1:1 %9 H,SO, 932 s HCl usza'ﬁr*a')(

2

> CO, +2H,0.
(b) (1) & (111)
(d) None of the above.

The set with correct order of acidity is — (SNfHFST &N 3= -)
(a) HCIO < HCIO, < HCIO, < HCIO,

(b) HCIO , < HCIO3 < HCIO2 < HCIO

() HCIO <HCIO, < HCIO, < HCIO,

(d) HCIO, <HCIO, < HCIO, < HCIO.

What is the IUPAC name of the following compound ?

CH

l 3
H,C-C-CH, - CH, - OH

éH
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29,

30.

31.

32.
33.

34.

33.

Write the name of acid which produces brown fumes on heating.
(TR TS Twe et amiSt e 7R FF 2)

(a) Acetic acid (Spfi5s Sptw)

(b) Sulphuric acid. TEFeRHT W)

(c) Nitric acid (712G wHif©)

(d) Hydrochloric acid. (FErgigifds sne) |

Which metal is used for preparation of crackers ?

(41T (SIS (I 419 Fa7© 27 ?)

(a) Aluminium (SOEETN) (b) Magnesium (SoART)
(¢) Copper (F919) (d) Zinc. (fe)

GROUP — B 2x10=20

Arrange the bonds in the increasing order of polarity. P-H, H-O,
C—Cl. Write the oxidation no. of Al in LiAIH "

(P-H, H-O, C-Cl 3g7afers ciemfafea Shierm sireme | LiAIH, € Al
T G AR F© 9)

How many types of carbon atoms present in this compound ?
Indicate each of them.

A ORIt 77 erta 1A st o 2 2ol Ao 73)

Write the chemical reactions involved for preparation of ammonium
sulphate in industry.

(SHITTRA D @7 fey ergfors icafbe amafae Ridrapmg B )

Caustic soda can not be stored in Al-vessel ~ explain. Why
(YIRS 2112 BB GIrer 2t Tl - 1T 9 A1)

A compound contain 17.28% of Nitrogeh & its molecular mass

1s 162. Find the no. of nitrogen atom present in one molecule of

that compound ?
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23

24.

23.

26.

2.

28.

What is the oxidation no. of iron 1n ring test of nitrate radical ?
(ARG T T I AT Tl (900 SITAET TIEd FR2T IS 2)
(@) +2 (b) +1 (c) +3 (a) 1,

Which of the following produces H202 during electrolysis ?
(o3 it ©fge R H 0, Besig 51 2)

(@) Conc. H,SO,(®4 H,SO,) (b) Dil H,SO, (=g H,SO,)

(c) 50%H, SO, (d) An alkali solution (< =3 72w) |

Which one of the following gives white precipitate on treatment
with Barium Chloride.

(Ftxz i @ @iRres s [ s ade sigsess ¢ 2)
(a) Hydrochloric acid (QREIEIRT SHIHG)

(b) Nitric acid (V12 SHIF©) _

(¢) Sulphuric acid GT=FGE= SHIFG)

(d) Ammonia. (SpfRE)

Which one of the following is aromatic —

(TS @9 SHErmne 2)
(a) CszoH (b) CIOHS
(¢) CH, (d) CH,COOH.

Which of the following is used for synthesis of protein ?
(159 TG (A AT JRZTS 27 2)

(a) DNA (b) Enzymes (49&3%)

(¢) RNA (d) Nucleotide. (ReFa6i3w) |

The most commonly used bleaching agent 1s —
(e [ags 22 gs =7 -)

(a) Alcohol (syEiEs) (b) Carbon-di-oxide (FK-Gi3-57TE)
(c) Chlorine (FfEN) (d) Sodium Chloride.(iiam @2E0) |
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10.

11.

1.2,

13.

" (a) 2,2 - Dimethyl butane—4—ol (2,2-Gizfiaize REHIH-4-5=)

(b) 3,3 — Dimethyl-1-hydroxy butane (3,3-GRNAE-1-72G ™
ems)

(¢) 3,3 - Dimethyl butane—1-ol (3,3-GizfiaZs REtH-1-5w)

(d) 2,2 — Dimethyl<4-hydroxy butane.(2,2-Si3NU2e-4-32G
qCH)

The 1ron ore magnetite consists of —

(TR ST TSGR0 @7 AYFS =+ -)
(a) Fe,O, (b) Fe,O, (¢) FeCO,

(d) 2Fe,0,, 3H,0.

The correct order of radii is — (IR 73T & = -)
(@) N<Be<B (b) F-<O* <N*
(c) Na<Li<K (d) Fe* <Fe*? <Fe*,

What is the name of following compound? (R(Fa @53 N & 2)

/Y\/OH -

(a) 4 —Methyl pentan — 1 — ol (4 - NUZe (DN - 1 - Te)
(b) 3 —Methyl pentan — 1 — ol (3 - B (2D - 1 - eT)
(c) 4 —Methyl pentanol (4 - WL (o B=)

(d) 3 —Pentan methyl — 1 — ol. (3 - (oI =2 - 1 - 7=7) |

When an atom of 10dine becomes an iodide 1on (I"), the radius
will — (I SRAGH, SNRTCET S [ 20 939 ©F 7 -)
(a) Decrease (39 =) (b) Increase (@ i1¥)

(¢) Remain the same (933 AF) (d) None. ((FH02 77) |

The process of heating steel to red heat & then cooling it slowly

is called— (Tirers @E® ©8 W2 At A AE I I AFers
E-)

(a) Annealing (#te7iv)
(¢) Molding (Gi=12)

(b) Melting (5eT=)
(d) Hardening.(=foqiset)
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14.

15.

16.

17.

18.

19.

(c) Cu

The reaction that occurs at the cathode during electrolysis is —
(Sf%e et wane @ R e =)

(a) Oxidation (s13=) (b) Reduction (Riaw)

(¢) Dissociation (Rtaem) (d) Ionisation.(Smaress) |

The number of structural isomers possible for the compound with

molecular formula CSH12 1S ?

(CH,, omi<ss wrae R @ieew siomsie Sainers 122y 337 ?)
@ 5 (b) 6 (c) 7 d) 8

What are the number of moles of CO which contains 16 g of
oxygen ? (16 g SR TS CO, 93 (N1 T 2)

(a) 0.5 mole (b) 0.2 mole

(¢) 0.4 mole (d) 0.25 mole.

The metal does not give H, on treatment with dilute HCl is —
(W 41t o7y HCI @3 et Ry H, 50 Beots 3@t Gifb 221 -)
(a) Zn (b) Fe

(d) Ca

If a piece of lime is heated to a very high temperature —

(GG [T SO T8 T3] 26 -)

(a) It will release CO, (4fs CO, Rsfs 3273)

(b) Itemitsa very bright white light (4f6 Y3 Seget siiw wiiet R
FAX)

(¢) It becomes soluble at high temperature (S% SN 3 71y

)
(d) None of the above. (3777 € 77) |

The oxidation number of three elements A,B,C in a compound are
+2, +5, -2 respectively. The probable formula of the compound —
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20).

21.

(40 Ao fofs dMtera A,B,C & ke T2t +2, +5, -2 2]
(@A TSR] ALTS -) |

(a) ABCg (b) Az(BC3)2

() A,BC)), (d) A,B,C),.

Which one is not a redox reaction ?

(TITE wirew R R w1 9)

(a) 2NO + Q, —> 2NO,

(b) Cl,+H,0—— HCI +HCIO
(¢) 2CrO* +2H" —> Cr,0,> +H,0O
(d) MnO,?+8H*——> Mn* +4H

s

Beryllium has higher ionization energy than Boron because —

(e 97 SSreaw e @R e @@ T -)

(a) Beryllium has higher atomic no. than boron. (RRFERITE

AR ST QR S @)

(b) Beryllium has larger size than boron. (AR SR (@R
QAR AG).

(c) A paired electron is removed from the outermost shell of

beryllium. (tafems Jafey i (A dmﬁﬂﬁﬂ MR
(IE)
(d) An unpaired electron is removed from the outermost shell

of Beryllium. (43f5 et 3pmele @fifEries wafzs o
(U AN )

22. ‘x’ is the product formed when sulphur reacts with oxygen, it dis-

solves in water to produce ‘y’. Choose the correct option forx & y.

(T AKX 7@ T “x° (Tt 00 A | 3 & TGS Ty

(b) SO, neutral

(c) SO,,base (d) SO,,50,
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